
A surgery map for SH



We think of such words as written on the circle with 
c   distinguished and identify words by cyclic 
perturbation.







Looking at the boundary of 1-dim moduli spaces we 
find that d   = 0.



Proof.

which is a chain isomorphism.

There is a natural surgery chain map:













We next argue as for HW. 

1) identify generators

2) Find 1's on diagonal (after taking the Morse 
differential).









Conclusion.



Example



Example.



Example.

A fake



An A    - isomorphism.

The wrapped Floer homology has a further 
multiplicative structure defined as follows in terms 
of the original WH-complex.



This gives operations







To connect to surgery we need a purely holomorphic 
version of this structure. To see it we extend the 
additive isomorphism to an A      -morphim.















Similarly we extend the surgery map, where we use 
the very simple A   structure on A(Λ) which has μ   
given by its multiplication and higher μ equal to 0.



Example.

Conclusion.



The product in symplectic cohomology.
















